Homework – Due Saturday 12/13/08

Simplify or solve if it is an equation.  Some of these answers will be very short.

1)      (-64)^1/3  =  

 

2)      (81)^1/4  =  

 

3)      SR(5x) * SR(11y)  =  

 
4)      SR(27)  =  

 
5)      SR(12x7)  =  

 

6)      SR(600y23)  =  

 
7)      SR(13/x6)  =  

 

  8)     SR(27x) / SR(3x)   =  

 

     9)     12^1/3 * 4^1/3  =  

 

    10)    6SRy – 15SRy  =  

 

    11)    7SR17 – 10SR17 + 3SR17 = 

 

    12)    2SR50x – 2SR18x =

 
    13)    SR2 + SR11  =  

 
    14)    SR(6)*(SR6 – SR2)  =  

 

15)   (SR5 + 3)(SR 2 – 8)  =

 

     16)   4/SR6  =  

 

      17)  SR(x4/3)  =

 

       18) 13/SR40  =  

 

   19) 8/(SR7 + SR3) = 

 

  20) SR(5x-1) = 8

 
21) SR(x+10) = x – 2

 
22)  x = SR(1-8x) + 2

 
23)  64^1/3  =

 
24)  25^3/2  =  

 

      25)  SR(x-1) -5 = 1

 

      26)  (x + 3)^-1/3 = -1

 

      27)  8 + SR(-20)  divided by -4

 

      28)   6a^2 - 4 = -8

 

      29)   3 + SR(-9) =

 

 30)  If f(x) = -3x2 – 4x + 5, evaluate for f(0) and f(2) 

Team – Due Monday 12/15/08

3)  Perform the indicated operation and simplify

(3SR5 – 4SR2)  *  (2SR5 + 6SR2)
6)  Find all real solutions   SR(x^2+3x+6) = 4
Test – Due Monday 12/15/08

 1. Simplify SR(45x^23) 

2. Multiply and simplify SR(5x) * SR(10x) 

3. Simplify SR96 / SR3 

4. SR75 – SR48 

5. SR10(SR5 + SR6) 

6. 21 / (4 – SR3) 

7. 7SR2 / (SR2 – 4) 

8. Solve if it has a solution SR(x – 2) + 5 = 1

9. Simplify 64^(2/3)

10. SR10x^2 * SR2x^3 

11. 7SR8 – 2SR32 

12. (7 – SR5)(10 + 3SR5) 

13. (3 + SR7)^2 

14. 5 / (4 + SR3) 

15. Solve SR(2x – 1) = x – 2 

